
P4

... Idle

......

P5P4

... Idle

......

...

...

P5

Get_Next_Runnable()Get_Next_Runnable()

Q1

Q3

Q2

Q0

runs

P2 P3

P5P4

... Idle

P7P6

... Idle...

...

"Promote"

empty

P4 will enter at Q0 when unblocked

P4

Q0

"Demote"

P7P6 P4 P4 will reenter at end of Q2

"Demote"

empty

P4

runs half quantum and Yield()s

P5

empty

Q1

Q3

Q2

P4

...

...

... ...
runs half quantum and blocks

P5

empty

Q1

Q3

Q2

Q0

P5P4

... Idle

......

... Idle

P010P310P1

You DON’T care about priorities explicitly

010

All queues collapse into one; priorities will decide the order now

"Change Scheduling Policy MLF−>RR"

Q1

Q3

Q2

Q0

5

IdleP0P3P1

Get_Next_Runnable() will pick highest prio automatically

priority

0IdleP3

22 P7P2

5

10

P0

P1

P2Idle... 22 P7

P2

P1 P1

P1 P2 P3

Get_Next_Runnable()

Q0

P7P2 IdleP0P3P1 P7

Q2

Get_Next_Runnable()

Get_Next_Runnable()Get_Next_Runnable()

empty

empty

empty

Just copy the RR queue to Q3; threads will find their ways up and down

"Change Scheduling Policy RR−>MLF"

Q1

Q3


